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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0

minFVI
minFVO

Warning: col ['miriFVIraw', "minFVOraw' ] is missing

2.100 1 ®  ETcAlraw
2.075 -
2. 050 -
2.025 -
2. 000 - °
1.975 1

1. 950 ~

1.925
Warning: col [’ ET4A1' , "ETcA2raw’, 'ETcA2’, '"ETcA’'] |is missing

1.900 - :

0.0 0.2 0.4 0.6 0.8 1.
10 1 1 1 1

0.8 -

0.6 A

0.4+

0.2 ~
Warning: col [ ETcA2raw’, 'ETcA2avg’, 'ETcA2'] missing

0.0

3000

2500 -

2000 -

1500
—@— ECopt
Warning: col ['EC(}'] is missing ® ECI
1000 - : —&— EG0
6. 60 : —@— PHopt
| —®— PHI
6. 58 : o= PHO
1
]
l
6. 56 |
|
1
1
6. 54 i
]
]
]
|
6. 52 1 I
1
Warning: col ["PHG'] is missing
6. 50 @ O O @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @
: 1 1 1
31.5 : —@— WCperM
|
|
31.0 A }
1
1
]
30. 5 1
]
|
30.0 . 4 L 4 L 4 L 4 * . 4 @ @ . 4 @ . 4 L 4 L 4 L 4 L 4 . 4 @ @ . 4 @ . 4 L 4 L 4
1
1
29.5 - !
]
|
29.0 :
Warning: col [’WCdeeraw', "WCperMavg' ] is missing
28.5 -

0.50 p—@ @ @ @

0. 45 4
0. 40 +
—@— minDeltaM
0. 35 + —@— avgDeltaM
—@— stdDeltaM
0.30 @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @
0. 25

0.20 p—@ L 4 L 4 L 4

30 p—@ @ @ @

@ ® ® @ 4 @ @ @ @ 4 @ ® ® @ 4 @ ¢ o beaM

—0— maxM
98 —&®— minM
26
@ L L L L @ @ @ @ @ L L L @ L @ @ @ @ @ L L
24
22

20 p——@ L 4 L 4 L 4 \ 4 \ 4 \ 4 4 4 4 L 4 L 4 L 4 4 \ 4 \ 4 \ 4 4 4 4 L 4 o——

adjFVOR

-0. 02 ~

e e T i st T . sttt o ate

0. 04 1 Warning: col [ ad_IFVIRraw’ . "adjFVIR", "adjFVORraw' ] is missing

0.575 ~
0. 570 ~

0. 565 e FRA
[ ] FRC
(] FRraw
— FR

0. 560 ~

0. 555 A

0. 550 A

0. 545 A

—0— LAl

0. 04 -

0.03

0.02

o
®
®
(
—————————e el H e @ -
®
®
®
o
®
o
®
®
®
®
®
®
®
o
®
o
®
®

e
o
S
[
[
[

59 A

58

57

56

55

—@— beg wc

[3; [ i N NI [N NENSE— R—

10 15 20

o postFgEtraw
129 - postFgEtavg
—@— postFgEt

10




FgDaily

100

0.0 -

80

- 60

© 2.0 -

- 40

20



G3-3_0

- Y,
¥
\
\
\
\
\
\
‘o\
e
TN
N N\ A
5 AN /\
N\ /1 \
\/ /

0 P~ ,/F
” \\ /} \\.//l
280 \\ //
N/
N/
| o \/
° °




00
0.75
0.50

1913 49P[°13 4913 1d°13 s![°13 ©S§3

-0.25

1013

-0.00

'eqld

--0.25

yd

o

o

(=
[

|
adad

-0.75

ETcl ETcldef ETcP ETcPT ETclis

T RH

PPFD

ETol ETbai pR pVPD

ESo



° ° °
95.0 7 o0 1 e o o ® ° @
52.5 . ° ° °

e © () ([ ] ® [ ] ) P
50. 0 - % 1® o e e
)
|_
W 47.5 4 -
45. 0 - .
42.5 - i
° ° o |o
T T T T T T T T T T T T T T T T T T
® ° ® °
1700 - ® i ° ° °
° ° ° ° °
1600 . ) [ } N [ J o s ) () [ J
° ° ° °
— %o o % H P
u._‘j 1500 .
1400 - .
1300 i
° ° e |o
28 - () E ) e
o0 ° ° o |o ° °
27 1 -
— 926 - [ } [ J _ [ J ( J
e ® H e |o e
25 1
o ® % ] %
° ° ° °
24 - ( } [ J [ J [ J
T T T T T T T T T T T T T T T T
[CX) @® e ev 0@ ® o0 e o ° ° T ) e |o ® o oo
60. 75 - -
60. 50 - .
= 60. 25 - -
60. 00 .
59. 75 A -
59. 50 - o . o - o
T T T T T T T T T T I I T T T T T T T T
280 | ° ° °
260 .
=
240 i
220 + -
° ° ° °
° ° ° ° °
350 e ° - ° ®
@ o @ o ® o % o ° ° e °
° o ° ®
325 A ® 1 ) )
® ° ° o |o
300 + -
— 275 1 -
250 .
225 .
200 . N () () ) j
T T T T T T T T T T T T T T T T T I I
45 50 55 1400 1600 24 25 26 27 28 59.5 60.0 60.5 220 240 260 280 200 250 300 350
ETcl ETol T RH VN



hour

100

8:00 -
80
- 60
12:00 -
- 40
20
17:00 -
I I I I I I I I I I _0
% AN 4@ CSHICSIING SIUR GRS
& 5 45§ & éﬁh %% Q?ggggr %2&' %§%Q§§@ %



G3-3

B e CERA K GP) [ e (=71/5%) = _ e
2t 0 (OU%) 0 ESHREC: 2850.0, PH: 6.4




FRV (ml plant-1)

G3-3_0, Day=5 (2025-05-17)

36k, VE2ERV. ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 600

08
0.6 - - 400
0.4 -
L 200
0.2 51
|

49
00 00g

TargetEC=2500. 0,  TargetSetEC=2850. 0

TargetPH=6. 5, TargetSetPH=6. 4

0.2~

0.0
80 {

60 1+ ByWoFv @D? 02:32: ET=49 Fg=0.0 Ro=0

ET (ml/hr/plant)
N
S

cumET (ml/plant)

I
+

a Ao o
3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

E3 E3 = £33 E3 E3 = £33 E3 E3 = £33 E3 E3
B B B B B B B B ] B B B B B

W
M
E=-1
Tt
™
T,
f==1
T,
f==1
T0h,
E=-1
Tt
™
T,
f==1
T,

0.6 1

0.4+

0.2~

0.0
800 4

600
400 -

200 -

o \ A A Warhing:,‘:ol

“obs!, 'PPFD obs'] is missing

25 A

20 A

Warning: lcol ['T_obs/, 'To obs'] is missing

Warning: lcol ['RH obs’, 'RHo obs’] is miss]

0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)



hour

100

8:00 -
80
- 60
12:00 -
- 40
20
17:00 -
I I I I I I I I I I _0
% AN 4@ CSHICSIING SIUR GRS
& 5 45§ & éﬁh %% Q?ggggr %2&' %§%Q§§@ %



G3-3

BfE]| GEBRETIC (FD) | EME (EH/HK) | KK ERE
St 0 (0%x) 0 323 KEC: 2959.0, PH: 6.4

RGBT R AR RZ I (120 vs 91.0))

ZRIASLPRIERE66. 0 ml.
[B3&REC (2260.0 vs 2375) R1K




40

20

100 5

~
($,]

1

(S
o

1

N
[$;}

1

FRV (ml plant-1)

3200

3000

2800

7.0

6.5

6.0

o=}
o

(2]
o

IS
o

N
o

ET (ml/hr/plant)

o

80

60

ET (ml/hr/plant)

—_
o

0.8

0.6

0.4+

0.2

1908 1

1000

500 -

30 4
25 A
20 -

15

100 - 7
RH

o RHo_obs

N
o
1
S S e e )

G3-3_0, Day=4 (2025-05-16)

| %8, V@sFRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET sp4 55lpg

00
| |5I4 Warning: lcol [FVI',| "FVO’'] missing

. v — M_E

maxM

=

=T

- 600

08 I
- 400 °
L 200 &
52
B {4

- 52

- 50

48

TargetEC=2500. 0, | TargetSetEC=2959. 0 —>—  ECB*10%

- XX

Warning: lcol ["ECC'] is missing

TargetPH=6.5, TargetSetPH=6.4 —>— PHB*10%

. X

Warning: col ["PHC' 1 is missing

i
Bylnit @§ 02:32; ET=62 Fg=0.0 Ro=0

——& -4

- 100
7

- 75
- 50

- 25

N o o | o o e e -

S S S —
0 1 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
IEXNESS PR [P | BB | BE | BB | B[ M 5 5 5 5 5 5 5 s | WM [ M [ M [W | W | @\

1
ByWoFv @D? 02:32; ET=52 Fg=0.0 Ro=0

w
ol

= 900
L 75
- 50

- 25

IEFNES A [ BA | BH [R5 | 85 [ B |BER|ZE|ER|(ZR|ER|ZC|(ER|ZE|(ZR X B |AWm[IE|Am| B

w
ol

—_—
[ ] | _obs
—@— PPFD obs

A A

—_ T

® To_obs

I's missing

Warning: lcol ['RH obs’] is missing

o VPD

0.0 0.2 0.4 0.6 0.8 1.

0

M_E

1)

(m

cumET (ml/plant)

cumET (ml/plant)



m=485, FV0=0 m=545, FV0=0 m=605, FV0=0

52.75 A —— ME 50 5 ® M_E 51.50 A ME
51. 25 -
52.50
52.0 51.00 -
52. 25
50. 75
52. 00 51.5 4
50. 50
51.75 -
51.0 4 50. 25
51.50
T T T T T T T T T T T T T T
500 600 700 800 900 485 490 495 545 550 555 605 610 615
m=665,m FV0=0 m=725,m FV0=0 m=785,m FV0=0 m=845,m FV0=0
-00 7 —e— ME —o— ME —— ME —e— ME
51.5 50. 75 -
.75 50. 5
50. 50
.50
51.0 - 50. 25 -
. 25 _ 50 0 T
50. 00
.00 50.5
49.75 49.5 -
.75
49. 50
.50 50. 0
T T T T T T T T T T T T
665 670 675 725 730 735 785 790 795 845 850 855
m=905,m Fv0o=0 m m=485,m Fv0o=0 m=545,m FvV0=0
—e— ME 46.0 1 —— MW 46.5 1 —— MW
.0 ]
45,5 - 46.0
45.5 -
-9 1 45.0 -
45.0
44.5 4
0 44.5
44.0 4.0
.5 :
905 910 915 500 600 700 800 900 485 490 495 545 550 555
m=605,m FV0=0 m=665,m FV0=0 m=725,m FVO=0 m=785,m FV0=0
.54 -@— MW 44.5 - -— MW -@— MW 44. 0 - -@— MW
44.0
.07 44. 0 43.5
43.5
-9 43.5 43.0
0 43.0
: 43.0 42.5 4
.5
42.5 4 42.5 4 42.0 A
605 610 615 665 670 675 725 730 735 785 790 795



m=845, FV0=0
—— MW

42.5 -
42.0
41.5
41.0 -

T T T

845 850 855

m=905, FV0=0

—— MW
43.0 -
42.5 -
42.0 A
41.5 A
41.0 A
T T T
905 910 915




hour

100

8:00 -
80
- 60
12:00 -
- 40
20
17:00 -
I I I I I I I I I I _0
% AN 4@ CSHICSIING SIUR GRS
& 5 45§ & éﬁh %% Q?ggggr %2&' %§%Q§§@ %



G3-3

BfE] | GEBRETIC (7)) | EHME (EH/FK) | KK R
St 0 (0%x) 0 323K EC: 3100.0, PH: 6.5

E3&KEC (2112.0 vs 2375) 1&1E




FRV (ml plant-1)

G3-3_0, Day=3 (2025-05-15)

1.0
o.g] VI VBSERV,ET - VI, VO, FVI, VO, FRV, adjFRV, ET 534 - 600
' 474 ~
0.6 - 400 ®
E
0.4 - _
- 200 &
0.2 -
41 Warning: col ['FVI',| "FVO'] missing
[ 00 I
0.0 - Lo
— — E P50
0.8 1 maxM
0.6 L 45
I-ul
0.4 - 40 =
0.2 L 35
e e e e P e fogmtttemgmormrn)
0.0 30
o5 ] TargetEC=2500.0, TargetSetEC=3100.0 t
0.6 -
0.4 -
0.2 -
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 -
0.2 -
0.0 ,
— 804 ByInit @D§ 02:32; ET=44 Fg=0.0 Ro=0 80
c 1 c
S 60 - | - 60 —
N I N
o 1 e S—© —
< 40 A 1 - 40 S
E ! —
~ w
— 20 - 1 - 20 §
Ll 1 o
0 1 e ey Uy~ U~ ~— 0
s0d 0 |1 2 [ 3[4 |5 [6[7 [8 [ [dofii[fo[i3[T4]is] e[ 17|18 79|22 2],
s | B E | BB | B | B [&2=|Z2=] B il B 5 5 il B 5 5 il MEXNEXANRES

(=2
o
1

I
ByWoFv @D'{ 02:32: ET=35 Fg=0.0 Ro=0

ET (ml/hr/plant)
N
S
N
S
cumET (ml/plant)

N
o
1

—_
o
) O 5 Sy S S

— — —
3 [ 4[5 [ 6 [ 7 [ 8 [ 9o [to] 11 [ 1213 [14]15[16 [ 17 [ 18] 19 [2 [21 [22]23
5 [ BB | BB | B | 8B [ZZ|%5| B |$=

o

o
1
p==
|
p==
il
p==]
T0H,
p==]
Th
p==
T,
p==
T,
p==]
T0H,
W
NI
W
M
=
T0H,
Th
Th,
T,
T0H,

0.6

0.4+

0.2~

1500 1

—_— 4
[ ] | _obs

1000 —@— PPFD_obs

500 ~

304 — T —_— 4
(] To_obs

20 A

10 ~

s ]

is missing

80

60

RH
o RHo obs ning: lcol ['RH_obs’] is missing

40 -

0.6

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0



hour

100

8:00 -
80
- 60
12:00 -
- 40
20
17:00 -
I I I I I I I I I I _0
% AN 4@ CSHICSIING SIUR GRS
& 5 45§ & éﬁh %% Q?ggggr %2&' %§%Q§§@ %



G3-3

BfE] | GERRETC (7)) | EHME (EH/FK) | RS R
St 0 (0%x) 0 323K EC: 3250.0, PH: 6.5

RE R i3k B RECE B Hh k.
EI3&KEC (2112.0 vs 2375) 1&1K
RE R EBL i HEREC/PH{E SRS, ATRESS

MR BRI




FRV (ml plant-1)

G3-3_0, Day=2 (2025-05-14)

o5l VI.VEERV,ET - VI, VO, FVI, FVO, FRV, ad FRV, ET ok [ 600

08
0.6 - - 400
0.4 1
- 200
0.2 ~ ; .
96 Warning: col ['FVI', 'FVO'] missing 41
oo I 00y |

TargetEC=2500. 0,  TargetSetEC=3250. 0

TargetPH=6. 5, TargetSetPH=6.5

©
N
1

©
(S
1

o
[«°]
(<o)

1

T

e}

o

T
Bylnit @§ 02:32; ET=49 Fg=0.0 Ro=0

T
[=2]
o

cumET (ml/plant)

[=2]
o
1
T
S
o

N
o
1
T
N
o

ET (ml/hr/plant)
N
S

= e S S S ~e—
3 4 5 6 7 11 12 13 14 15 16 17 18 19 20 21 22 23

02:32: ET=41 Fg=0.0 Ro=0

0 1
FA [ FA

ByWoFv @D

[oe]
(<o)
1
(o]
©
—_
o
T
w
o

=)
o
1

Y S R e R o~ T 1 (L) ) S S P p—
1
)
o

T
S
o

T
N
o

cumET (ml/plant)

N
o
1

ET (ml/hr/plant)
N
S

e o _
o s

—_
o

el | BH | BA |AEfA AR KB | AW B | B (ZZ|ZSE(ZZ|EE[( B | B |5 |5 | BB | BF | B

R

0l |

0.6

0.4+

0.2~

0.0

1000 -
o | _obs

750 -

500 A

250 A
Warning: lcol ['PPFD _obs’'] is mj

—_ T

25 () To_obs

20

15

Warning: lcol ['T_ o

10

—— RH
() RHo obs ning: lcol ['RH_obs’] is missing

0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)



hour

100

8:00 -
80
- 60
12:00 -
- 40
20
17:00 -
I I I I I I I I I I _0
% AN 4@ CSHICSIING SIUR GRS
& 5 45§ & éﬁh %% Q?ggggr %2&' %§%Q§§@ %



G3-3

BfE] | GERRETC (7)) | EHME (EH/FK) | RS R
St 0 (0%x) 0 323K EC: 1300.0, PH: 6.5

RER it ERECHIR TR K.

[E/REC 2112.0 K&, EIUAKECR &M AER
REREST I HEREC/PHE SR K, FIRERZMNIRELR R




FRV (ml plant-1)

G3-3_0, Day=1 (2025-05-13)

VI, VB3RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET - 600

0.6 1 - 400

- 200

00 5I2 Warning: lcol ['FVI',| "FVO'] missing 00 005I2

TargetEC=1000. 0, | TargetSetEC=1300. 0

TargetPH=6. 5, TargetSetPH=6.5

0.0 100

i
Bylnit @§ 02:32; ET=66 Fg=0.0 Ro=0

200 - 75

- 50

100 A
- 25

ET (ml/hr/plant)

’ ﬁ -
3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 —?00
O O 0 O O O O I I

02:32: ET=52 Fg=0.0 Ro=0 - 75
- 50

2
015 T 1

%= | FA
200 1 ByWoFv @D

Y S PR o < o ][] 8 [ P —— -

100 A

ET (ml/hr/plant)

- 25

2—2 0
[ E 5 | B | E | BE | i |BR|ZR || A || A [AW| B [ A

1.0
TREEN

R

M
w
M
®
M
T
T
i

0.6

0.4+

0.2~

0.0
1500 A

—_— 4
o | _obs

1000 4 —@— PPFD obs

500 -

T 4

To_obs

T obs'] is missing i .\ -

25 -

20 ~

Warning: col

15
80 4

60

40 -
—— RH %
o RHo obs ning: lcol ['RH_obs’] is missing

o VPD

1.0

0.8 ~

0.6

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)



